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BT FA 2 5 YEE|H 2522
SN 232D
HH: 2502xE
Col: SBMAUCHINR (B2 DL ) (ol 29
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
Sz 35,489,056 34,516,785 972,271
= 7,024,070 7,024,070 0
= 16,200 16,200 0
I 571,084 554, 164 16,900
= 7,099,295 7,087,085 12,260
ES 200,000 0 200,000
2 16,828,427 16,085,316 743,111
ol 3,750,000 3,750,000 0
S50z 2E 3,226,418 3,155,453 70,965
2 16,200 16,200 0
p 389,664 389,664 0
= 150,175 150,455 A280
2 2,670,379 2,599, 134 71,245
S AU IR (B2 EDAEKIB) 604,500 577,085 27,415
= 19,000 19,000 0
2 585,500 558,085 27,415
HRUEDEN 22 K2 66,300 58,885 7,415
307 BI2H0| A 66,300 58,885 7,415
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248 60,300,002 60,300 52,885 7,415
SR0IE AlIXI2 230,200 210,200 20,000
307 BI2H0| A 230,200 210,200 20,000
2 DIZHZ AN R E 93,000 73,000 20,000
©0I0PIJ} U= DASY T 22 20,000 0 20,000
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AJI0IREEES 29 K 63,000 56,000 7,000
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o2 245 10,600,002 10,600 3,600 7,000
AJIOF2 B2 ES] Al X 338,000 328,000 10,000
307 BI2H0| A 338,000 328,000 10,000
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OAJIOI2EHA| X
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= 7,35 7,350 0
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ORl423] ALDIEHEER X
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DM 2 DISSY ZEAMY 32,846 0 32,846
101 1A 12,046 0 12,046
M IRtHMZZ2nS e 12,046 0 12,046
oJE23 2,010,580« 1 =4 8,043 0 8,043
O¢xt==g 76,9603 x1H 43 308 0 308
OAIZAZ2 9,620 x1.5+8A| 2H+20 2,309 0 2,309
o442 10,660,000& *13% 1,386 0 1,386
201 Zet=Ehl 3,000 0 3,000
01 AlR2telHl 1,000 0 1,000
dEj2Z 0= 298 237 1,000 0 1,000
2 33234l 2,000 0 2,000
M2 DIE3Y A2 S 3323
500,000& ~4& 2,000 0 2,000
401 AIEHIYL 20| 5,000 0 5,000
01 AlZHI 5,000 0 5,000
OdH2g DIEsY ASE &8 9 5,000 0 5,000
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O=I2EHI0I= 150,000 * 1074 1,500 0 1,500
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2ETE = ITSHEA 2 EY 30,000 20,000 10,000
401 AlZHI L 2] 30,000 20,000 10,000
01 Al&HI 30,000 20,000 10,000
O =¥ IS=oT4 2els8Y
AE 30,000,0002 30,000 20,000 10,000
25T 4,015,115 3,951,115 64,000
= 854,170 854,170 0
(= 379,280 379,280 0
2 2,781,665 2,717,665 64,000
2D H2H 2,589,000 2,589,000 0
=2 804,300 804,300 0
(= 172,350 172,350 0
= 1,612,350 1,612,350 0
0N HISA )| EIXX FHFHIBAHIRE) 600,000 600,000 0
= 420,000 420,000 0
(= 90,000 90,000 0
= 90,000 90,000 0
401 AlZHI L L0HY] 600,000 600,000 0
= 420,000 420,000 0
[ 90,000 90,000 0
= 90,000 90,000 0
01 Al&HI 559,700 600,000 A40,300
O HBAL ®ab)| E=PX FHEH|IZ
At Fd 559,700,000 559,700 600,000 40,300
= 391,790 420,000 ~28,210
[ 83,955 90,000 16,045




2A:
X XH -
o e

=aak

0f!
(]

=

A HO HO
\J ton ton

0
HO
for
==

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
= 83,955 90,000 26,045
02 Zeldl 40,300 0 40,300
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OXE - HIXIE23H M &Hl
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ZSHHH ALK& 0 13,500 213,500
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201 ZEt2 & 0 13,500 213,500
03 @At2ZH] 0 13,500 A 13,500
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= 35,000 35,000 0
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20238 LelXE 23 H22D| XI2ALS 20,000 0 20,000
= 10,000 0 10,000
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